GauB-Verfahren

G.Roolfs



GauB-Verfahren

a) x —4y — 2z = 4
b) 2x =3y + z = =2
c) 3x + y+2z= 1




GauB-Verfahren

a) x —4y — 2z = 4| -(=2)+b)
b) 2x =3y + z = =2
c) 3x + y+2z= 1




GauB-Verfahren

2) x —4y —2z= 4[-(=2)+b) |-(=3)+09
b) 2x =3y + z = =2
<) 3x + y+2z= 1




GauB-Verfahren

a) x —4y —2z = 4| (=2)+b) | (=3)+¢
b) 2x =3y + z= =2
c) 3x + y + 2z =

x — 4y 2z = 4



GauB-Verfahren

a) x —4dy — 2z = 4| (=2)4+b) | (-3)+¢)
b) 2x — 3y + z = =2
c) 3x + y + 2z = 1

X — 4y — 2z = 4

5y + 5z = —10



GauB-Verfahren

a) x —4dy — 2z = 4| (=2)4+b) | (-3)+¢)
b) 2x — 3y + z = =2
c) 3x + y + 2z = 1

X — 4y — 2z = 4

5y + 5z = —10
13y + 8z = —11




GauB-Verfahren

a) x —4y — 2z = 4| (=2)+b) | -(=3) +¢)
b) 2x — 3y + z = =2
c) 3x + y + 2z = 1

X — 4y — 2z = 4

5y + 5z = —10 | -(—2) 1 q)
d) 13y + 8z = —11




GauB-Verfahren

a) x —4y — 2z = 4| (=2)+b) | (=3)+¢)
b) 2x — 3y + z = =2
c) 3x + y + 2z = 1
X — 4y — 2z = 4
5y + 5z = —10 | -(—2) 1 q)
d) 13y + 8z = —11

X — 4y — 2z = 4



GauB-Verfahren

a) x —4y — 2z = 4| (=2)+b) | -(=3) +¢)
b) 2x — 3y + z = =2
c) 3x + y + 2z = 1
X — 4y — 2z = 4
5y + 5z = —10 | -(—2) 1 q)
d) 13y + 8z = —11
X — 4y — 2z = 4

5y + 5z = —10



GauB-Verfahren

a) x —4y — 2z = 4| (=2)+b) | -(=3)+0)
b) 2x — 3y + z = =2
c) 3x + y + 2z = 1
X — 4y — 2z = 4
5y + 5z = —10 | -(—2) 1 q)
d) 13y + 8z = —11
X — 4y — 2z = 4

5y + 5z = —10
— 5z = 15




GauB-Verfahren

a) x —4y — 2z = 4| (=2)+b) | (=3)+¢)
b) 2x — 3y + z = =2
c) 3x + y + 2z = 1
X — 4y — 2z = 4
5y + 5z = —10 | -(—2) 1 q)
d) 13y + 8z = —11
X — 4y — 2z = 4

5y + 5z = —10
— 5z = 15

ZzZ =



GauB-Verfahren

a) x —4y — 2z = 4| (=2)+b) | (=3)+¢)
b) 2x — 3y + z = =2
19) 3x + y + 2z = 1
X — 4y — 2z = 4

5y + 5z = —10 | -(—2) 1 q)

d) 13y + 8z = —11
X — 4y — 2z = 4
5y 4+ 5z = —-10
— 5z = 15
= -3



GauB-Verfahren

a) x —4y — 2z = 4| (=2)+b) | -(=3)+0)
b) 2x — 3y + z = =2
19) 3x + y + 2z = 1
X — 4y — 2z = 4

5y + 5z = —10 | -(—2) 1 q)

d) 13y + 8z = —11
X — 4y — 2z = 4
5y 4+ 5z = —-10
— 5z = 15




GauB-Verfahren

a) x —4y — 2z = 4| (=2)+b) | (=3)+¢)
b) 2x — 3y + z = =2
19) 3x + y + 2z = 1
X — 4y — 2z = 4

5y + 5z = —10 | -(—2) 1 q)

d) 13y + 8z = —11
X — 4y — 2z = 4
5y 4+ 5z = —-10
— 5z = 15
z= —3
y = 1



GauB-Verfahren

2y + z = 4
2x + by — 2z = -1
X + 3y — 3z = —4




GauB-Verfahren

2y + z = 4 Gleichungssystem ordnen
2x + by — 2z = -1
x + 3y — 3z = -4




GauB-Verfahren

a) X + 3y — 3z = -4
b) 2x + by — 2z = -1
c) 2y + z = 4




GauB-Verfahren

a) x +3y —3z=—-4 | -(=2)+b)
b) 2x + by — 2z = -1
c) 2y + z = 4




GauB-Verfahren

a) x +3y —3z=—-4 | -(=2)+b)
b) 2x + by — 2z = -1
c) 2y + z = 4

x + 3y — 3z = -4



GauB-Verfahren

a) x +3y —3z=—-4 | -(=2)+b)
b) 2x + by — 2z = -1
c) 2y + z = 4

x + 3y — 3z = -4
-y + 4z = 7



GauB-Verfahren

a) x4+ 3y —3z=-4 | -(=2)+b)
b) 2x + by — 2z = -1
c) 2y + z = 4
x + 3y — 3z = —4
-y + 4z = 7

2y + z =




GauB-Verfahren

a) x +3y —3z= -4 | -(=2)+b)
b) 2x + by — 2z = -1
c) 2y + z = 4
x4+ 3y —3z= —4
-y +4z = 7 |- -2+4d)

d) 2y + z =




GauB-Verfahren

a) x4+ 3y —3z= -4 | -(=2)+b)
b) 2x + by — 2z = -1
c) 2y + z = 4
x4+ 3y —3z= —4
-y +4z = 7 |- -2+4d)
d) 2y + z =

x4+ 3y —3z= —4



GauB-Verfahren

a) x +3y —3z= -4 | -(=2)+b)
b) 2x + by — 2z = -1
c) 2y + z = 4
x + 3y —3z= -4
-y +4z = 7 |- -2+4d)
d) 2y + z =
x4+ 3y —3z= —4
-y + 4z = 7



GauB-Verfahren

a) x +3y —3z= -4 | -(=2)+b)
b) 2x + by — 2z = -1
c) 2y + z = 4
x + 3y —3z= -4
-y +4z = 7 |- -2+4d)
d) 2y + z =
x4+ 3y —3z= —4
-y + 4z = 7

+ 9z = 18

zZ =



GauB-Verfahren

a) x +3y —3z= -4 | -(=2)+b)
b) 2x + by — 2z = -1
c) 2y + z = 4
x4+ 3y —3z= —4
-y +4z = 7 |- -2+4d)
d) 2y + z =
x4+ 3y —3z= —4
-y + 4z = 7
+ 9z = 18
= 2



GauB-Verfahren

a) x +3y —3z= -4 | -(=2)+b)
b) 2x + by — 2z = -1
c) 2y + z = 4
x4+ 3y —3z= —4
-y +4z = 7 |- -2+4d)
d) 2y + z =
x + 3y —3z= -4
-y + 4z = 7
+ 9z = 18
= 2
y = 1



GauB-Verfahren

a) x +3y —3z= -4 | -(=2)+b)
b) 2x + by — 2z = -1
c) 2y + z = 4
x4+ 3y —3z= —4
-y +4z = 7 |- -2+4d)
d) 2y + z =
x + 3y —3z= -4
-y + 4z = 7
+ 9z = 18
= 2
y = 1



GauB-Verfahren

a) x —2y + 3z =4
b) 3x + y — bz =25
c) 2x — 3y + 4z =17




GauB-Verfahren

a) x =2y + 3z=4 | -(=3)+b)
b) 3x + y — b5z 5
c) 2x — 3y + 4z =17




GauB-Verfahren

a) x —2y + 3z =4 | - (=3)+0b) | - (=2)+0)
b) 3x + y — b5z 5
c) 2x — 3y + 4z =17




GauB-Verfahren

a) X —2y + 3z = 4 | - (=3)+0b) | - (=2) +0)
b) 3x + y— bz= 5
<) 2x — 3y + 4z = 7

X —2y + 3z = 4



GauB-Verfahren

a) X —2y + 3z = 4 | - (=3)+0b) | - (=2) +0)
b) 3x + y— bz= 5
c) 2x — 3y + 4z = 7

X —2y + 3z = 4

Ty — 14z = -7



GauB-Verfahren

a) X —2y + 3z = 4 | - (=3)+0b) | - (=2) +0)
b) 3x + y— bz= 5
c) 2x — 3y + 4z = 7

X —2y + 3z = 4

Ty — 14z = -7
y — 2z = -1




GauB-Verfahren

a) X —2y + 3z = 4 | - (=3)+0b) | - (=2) +0)
b) 3x + y— bz= 5
c) 2x — 3y + 4z = 7
X —2y + 3z = 4
Ty — 14z = =7 | :7

d) y — 2z = -1




GauB-Verfahren

a) X —2y + 3z = 4
b) 3x + y— bz= 5
c) 2x — 3y + 4z = 7
X —2y + 3z = 4

7y — 14z = -7 | :7
d) y — 2z = -1
x —2y + 3z = 4
y — 2z = -1

y — 2z = -1




GauB-Verfahren

a) X —2y + 3z = 4
b) 3x + y— bz= 5
c) 2x — 3y + 4z = 7
X —2y + 3z = 4
Ty — 14z = =7 | :7
d) y — 2z = -1
x —2y + 3z= 4
y — 2z =-1 | -(=1)+e)

e) y — 2z = -1




GauB-Verfahren

a) X —2y + 3z = 4
b) 3x + y— bz= 5
c) 2x — 3y + 4z = 7
X —2y + 3z = 4
Ty — 14z = =7 | :7
d) y — 2z = -1
x —2y + 3z= 4
y — 2z =-1 | -(=1)+e)
e) y — 2z = -1
X —2y + 3z = 4
y — 2z = -1

0= 0




GauB-Verfahren

a) X —2y + 3z = 4
b) 3x + y — 5z =5
c) 2x — 3y + 4z = 7
x —2y + 3z= 4
Ty — 14z = =7 | :7

d) y — 2z = -1
x —2y + 3z= 4

y — 2z =-1 | -(=1)+e)
e) y — 2z = -1
X —2y + 3z = 4
y — 2z = -1
0= 0

2 Gleichungen, 3 Unbekannte:



GauB-Verfahren

a) X —2y + 3z = 4
b) 3x + y — 5z =5
c) 2x — 3y + 4z = 7
x —2y + 3z= 4
Ty — 14z = =7 | :7

d) y — 2z = -1
x —2y + 3z= 4

y — 2z =-1 | -(=1)+e)
e) y — 2z = -1
X —2y + 3z = 4
y — 2z = -1
0= 0

2 Gleichungen, 3 Unbekannte: Es gibt unendlich viele Lésungen.



GauB-Verfahren

x —2y +3z =4
y — 2z = -1
0=0




GauB-Verfahren

x —2y +3z =4
y — 2z = -1
0=0

z =k




GauB-Verfahren

x —2y +3z =4
y — 2z = -1
0=0

z =k




GauB-Verfahren

X —2y +3z =4

y — 2z = -1
0=0
z =k



GauB-Verfahren

X —2y +3z =4

y — 2z = -1
0=0
z =k



GauB-Verfahren

X —2y +3z =4

y — 2z = -1
0=0
z =k
= —142k



GauB-Verfahren

X —2y +3z =4

y — 2z = -1
0=0
z =k
= —1+4+2k
x =24k
2+ k 2 1
—1+42k|=|-1|+k]|2]|] keR

k 0 1



